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Objective: Find the surface area of cones

Concept

Surface Area of a Cone
The surface area, S, of a cone is equal to the sum of the area of the
sector, L, and the area of the circular base, B.

S=L+E
S = nrf + nr®
Where B is the area of the circular base
and L is the area of the side of the cone, called a sector.
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Objective: Find the surface area of cones

Concept

Steps to find the Surface Area of a Cone

1. Find the radius, r, of the circular base.
2. Find the slant height, £, of the cone.

3. Findthesurfacearea:S =L+ B — S = nrf + nr?

The Lateral Area of a cone is the area of the side of the cone

To find the Lateral Area of the a cone, use: L =11t
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Objective: Find the surface area of cones

Ex) A company packages popcorn in containers in the shape of a right cone. Each
container will be wrapped completely in cellophane, side and top. Estimate the amount
of cellophane needed to wrap each container. Round to the nearest tenth of a square

centimeter. <}? To‘\'ox\ S-w_gc\(_{ Q—rec_

- Suctace Gxec = >= 1Tr
2
= ﬂ(lzqm)(ZOQM) + 17 ( |12 QWD

x \QDCoﬁL amnm”

Captured on Thu May 10 2018 12:51:53




Acc Math 2 Surface Area of Cones.gwb - Thursday, May 10, 2018 - Page 4 of 5

Objective: Find the surface area of cones

Ex) Shelley plans to makonical party hats for her niece’s birthday party.
She wants each hat to be 18 inches tall and the bases of each to be 9 inches in

diameter. How much material will she use to make the hats to the nearest square
inch?
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Objective: Find the surface area of cones

Closure
Explain the difference between the height of a cone and the slant height of a cone.
The height is the perpendicular/vertical distance from the

base to its apex.
The slant height is the length of the side of the cone.
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